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Name Date
|) Fact Families
A 8+6= 14 — 8 =
6 + =14 14 — =6
B. 10 + =15 15 -5 =
15 = +5 —10=5
C. 9+ = 18 18 — =9
D. Why does the fact family for Question C have only two facts?
.D Coin Jar
1. How many pennies are in the Penny jar today?

2.

How many nickels are in the Nickel jar today?

Skip count by bs to find the value of the nickels.

Skip count by 10s to find the value of the dimes.

. How many dimes are in the Dime jar today?

. How many quarters are in the Quarter jar today?

Find the value of the quarters.
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